
1

Your Aquaculture Technology and Service Partner

Spare Parts
Catalogue
Sensor Systems

Your Aquaculture Technology and Service Partner



2

Thank you for choosing AKVA group as your supplier of aquaculture 
technology. AKVA group is a technology partner and supplier of advanced 
equipment and services to the aquaculture industry worldwide. We are a 
puplic company operating in one of the world’s fastest growing industries 
and supply everything from single components to complete installations. 
AKVA group is recognized as a pioneer and technology leader through 
more than 30 years. Corporate Headquarters are in Norway.

This catalogue includes all spareparts used in sensor systems for both 
cage and land based aquaculture. It contains a complete overview with 
illustrations showing in detail each part used and where it is mounted.

For more information please visit our website

    

Note. The information in this document is subject to change without notice and should not be construed as 
a commitment by AKVA group ASA. AKVA group ASA assumes no responsibility for any errors that may appear 
in this document. In no event shall AKVA group ASA be liable for incidental or consequential damages arising 
from use of this document or of the software and hardware described in this document.

We reserve all rights in this document and in the information contained therein. Reproduction, use or disclosure 
to third parties without express authority is strictly forbidden. Additional copies of this document may be 
obtained from AKVA group ASA at its then current charge.

                                                                             

    

Spare Parts Catalogue - Sensor Systems

The spare part illustrations 
have position numbers showing 
where each part is mounted 
in each unit. This will help you 
to locate the correct parts 
for your equipment.

www.akvagroup.com

3   

8   Winch 
7   Control Unit 

6   Cables 

4   Cage Units 

3   Cameras 

5   Sensors  

2   Fish Farm Inspection Unit  

1   Vicass HD 

 9   Suspension Kit  



3

Your Aquaculture Technology and Service Partner

Contents
1. Vicass HD   ................................................ 5
•      AkvaSensor Vicass HD    ................................. 5
2. Fish Farm Inspection Unit  .......................... 6
•      Fish Farm Inspection Unit    ............................ 6
 3. Cameras   ....... .............................    ...................    6
•           AkvaCamera  Basic HR 30m        ............................ 6
•    AkvaCamera Basic HR 40m  ..........................7  
•               AkvaCamera   Basic     HR    50m      ...........................   7
•       AkvaCamera  Basic  HR 80m        ....................... 8
•	 AkvaCamera Basic HR 100m .........................  8
•	 AkvaCamera Super HR 30m    .........................  9
•	 AkvaCamera Super HR 40m  .......................   9
•	 AkvaCamera Super HR 60m ........................ 10
•	 AkvaCamera Super HR 100m ....................... 10
•	 SmartEye 360 Twin w/2 Color Cam MKII wo/s ..11
•	 SmartEye 360 Twin w/2 Color Cam MKII 30m .. 11
•	 SmartEye 360 Twin w/2 Color Cam MKII 50m .. 12
•	 SmartEye 360Twin w/2 Color Cam MKII 75m .. 12
•	 SmartEye 360 Twin w/ 2 Color Camera ........  13
•	 SmartEye 360 Twin Colour/ULL 75 m ............ 13
•	 CAP Smart Yellow .....................................  14
•	 CAP Digital - Yellow .................................... 15
•	 CAP Config USB micro ................................ 15
•	 AkvaCamera SmartBox Directional Antenna ... 16
•	 AkvaSensor CSU 5,8GHz - Directional Antenna .. 18
•	 AkvaCamera CVU 5,8GHz - Directional Antenna ..18
•	 CSU Directional Antenna w/ Video Amp 5,8GHz.. 19
•	 CageBox 1-12 ...................................... 19-23

4.   Cage Units      ..............................................   24
•	 SmartEye ComRadio 2,4GHz     ................... 24
•	 AkvaSensor Base Cmd Radio ...................... 25
•	 VideoBase 5,8GHz 6 Channel Video ............. 26
•	 Wireless Access Point V2 ............................. 26
5.  Sensors     .................................................. 27
•	 Temperatur Sensor CSU 30m Cable    ................ 27
•	 Temperatur Sensor CSU 50m Cable  ................ 27
•	 AkvaSensor Current 0-50cm/sec ................... 27
•	 AkvaSensor Current 0-100cm/sec ................. 27
•	 Oxygen Sensor PRO-X PPM Mg/l Freshwtr 100m .. 28
•	 Oxygen Sensor PRO-X PPM Mg/l Saltwater 10m  ... 29
•	 Oxygen Sensor PRO-X PPM Mg/l Freshwater 10m .. 29
•	 Oxygen Sensor PRO-X % Sat Saltwater 10m ....... 30
•	 Oxygen Sensor PRO-X % Sat Freshwater 10m ...... 30
•	 Oxygen Sensor PRO-X PPM Mg/l Saltwater 50m .... 31
•	 Oxygen Sensor PRO-X PPM Mg/l Freshwater 50m .. 31
•	 Oxygen Sensor PRO-X % Sat Saltwater 50m ....... 32
•	 Oxygen Sensor PRO-X % Sat Freshwater 50m ..... 32
•	 Oxygen Sensor PRO-X % Sat Freshwater 100m .. 33
•	 Oxygen Sensor PRO-X % Sat Saltwater 100m .. 33
•	 Oxygen Sensor PRO-X 50m Cable .................. 34
•	 Oxygen Sensor PRO-X 10m Cable .................. 34
•	 Oxygen Sensor PRO-X 100m Cable ................. 35
•	 Oxygen Sensor PRO-X 10m Cable 4-20mA ...... 35
•	 Foil Kit for Oxygen Optode ......................... 36
•	 Foil Kit for Oxygen Optode RDO .................  36
•	 Foil Kit for Oxygen Optode RDO PRO-X .......... 36



4

Contents continue
6. Cables ........................................................ 37
•	 Akvasensor Base Cmd Cable 30m  ............. 37
•	 AkvaBase Cmd Ext Cable 5m .......................... 37
•	 Cable Power --> Base .................................. 37
•	 AkvaBase Cmd Ext Cable ............................ 38
•	 AkvaSensor SmartEye Ext Cable ................... 38
•	 Cable Video Power --> Base ......................... 38
•	 Cable Power --> Monitor Video ................... 38
•	 Cable Power --> P/T Controller .................. 39
•	 AkvaCamera Ext Cable 4m ........................ 39
•	 AkvaCamera Ext Cable 10m ...................... 39
•	 AkvaCamera Ext Cable 50m ...................... 39
•	 SmartEye 360 Ext Cable 20m .................... 39
•	 Cable Battery 4mm^2 ............................... 40
•	 Cable Battery 4mm^2 CAP ........................ 40
•	 Power Cable KIT Battery 4mm^2 CAP ............. 40
•	 Network Cable Cat5 10m .......................... 41
•	 Network Cable Cat5/Cat6 7m .................... 41
•	 Network Cable Cat5/Cat6 2m .................... 41  
•	 Network Cable Cat5/Cat6 5m .................... 41
•	 Network Cable Cat5 10m .......................... 41
•	 MultiCable SmartBox - Wired 15m ................. 42
•	 MultiCable SmartBox - Wired 30m ................. 42
•	 MultiCable SmartBox - Wired 45m ................. 42
•	 MultiCable  SmartBox - Wired 60m .................. 43
•	 MultiCable SmartBox - Wired 70m ................. 43
•	 MultiCable SmartBox - Wired 80m ................. 43
    

  

•	 MultiControl Video Cable 60m 1 Plug ............ 44
•	 MultiControl Video Cable 120m 1 Plug ........... 44
•	 MultiControl Video Cable 200m 1 Plug ........... 44
•	 MultiControl Video Cable 250m 1 Plug ............ 45
•	 MultiControl Video Cable 5m 2 Plug ................ 45
•	 MultiControl Video Cable 20m 2 Plug ............... 45
•	 Multicontrol Video Cable 25m 2 Plug ............. 46
•	 MultiControl Video Cable 30m 2 Plug ............... 46
•	 MultiControl Video Cable 35m 2 Plug ............... 46
•	 MultiControl Video Cable 40m 2 Plug ............... 47
•	 MultiControl Video Cable 45m 2 Plug ............... 47
•	 MultiControl Video Cable 50m 2 Plug ............... 47
•	 MultiControl Video Cable 60m 2 Plug ............... 48
•	 MultiControl Video Cable 70m 2 Plug ............... 48
•	 MultiControl Video Cable 80m 2 Plug ............... 48
•	 MultiControl Video Cable 90m 2 Plug ............... 49
•	 MultiControl Video Cable 100m 2 Plug .............. 49
•	 MultiControl Video Cable 110m 2 Plug .............. 49
•	 MultiControl Video Cable 115m 2 Plug .............. 50
•	 MultiControl Video Cable 130m 2 Plug .............. 50
•	 MultiControl Video Cable 150m 2 Plug .............. 50
•	 MultiControl Video Cable 180m 2 Plug .............. 51
•	 MultiControl Video Cable 200m 2 Plug .............. 51
•	 MultiControl Video Cable 250m 2 Plug .............. 51
•	 MultiControl Video Cable 300m 2 Plug .............. 52
•	 MultiControl Video Cable 360m 2 Plug .............. 52
•	 MultiControl Video Cable 400m 2 Plug .............. 52
•	 MultiControl Video Cable 450m 2 Plug .............. 53
•	 Splice MultiControl Video Cable  ..................... 53
7. Control Units  ............................................. 54
•	 CCS Control Unit ..................................... 54
•	 P/T Controller .......................................... 54
8. Winch  .................................................... 55
•	 SmartWinch MKII Single System ................. 55
•	 SmartWinch Dual System MKII .................... 56
•	 Winch HT Dual ........................................... 57
•	 Cable Extension for Winch 2m ...................... 58
•	 Winch V5 MKII  .......................................... 59
•	 Extension Cable Winch V5 ........................... 59
•	 Cable Winch V5 - Digital CAP Network ............. 60 
•	 Winch V5 - Mounting Bracket ....................... 60
9. Suspension Kit  ....................................... 61
•	 Suspension Kit for CSU and CVU ................... 61
•	 Suspension Kit for CAP ................................62
•	 Suspension Kit Smart Camera ...................... 64
•	 Suspension Kit for Winch w/ CAP ................... 65
•	 Suspension Kit for Winch w/ SmartBox ...........67
•	 Suspension Kit for Winch V5 ........................ 69
 
   
    

  



5

Your Aquaculture Technology and Service Partner

AkvaSensor Vicass HD
#10000501

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  PN10000066	 Vicass HD Computer	 1	 pc	 LRU		
		  0103116	 Vicass HD Camera Modul	 1	 pc	 LRU		
		  10001284	 Power conv. 230AC-15DC 15A IP67 10m Ladac	 1	 pc	 LRU		
		  10000570	 Vicass HD User Manual + Quick guides	 1	 pc	 LRU		
		  10001199	 Cable Battery 4mm^2 Vicass	 1	 pc	 LRU		
		  10000568	 Cable 12V female-female 50cm	 1	 pc	 LRU
		  11T6483000	 Dust Cap	 1	 pc	 LRU



6

Fish Farm Inspection Unit
#0101960

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 10001284	 Power Conv. 230AC-15DC 15A IP67 10m Ladac	 1	 pc	 LRU		
		  0102984	 User’s Guide Manual Fishfarm Inspection System	 1	 pc	 LRU		
		

AkvaCamera Basic HR 30m
#0101116

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101116	 AkvaCamera Basic HR 30m	 1	 pc	 LRU



7

Your Aquaculture Technology and Service Partner

AkvaCamera Basic HR 40m
#0101619

AkvaCamera Basic HR 50m
#0103174

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101619	 AkvaCamera Basic HR 40m	 1	 pc	 LRU

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0103174	 AkvaCamera Basic HR 50m	 1	 pc	 LRU



8

AkvaCamera Basic HR 80m
#0104182

AkvaCamera Basic HR 100m
#0104183

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104182	 AkvaCamera Basic HR 80m	 1	 pc	 LRU

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104183	 AkvaCamera Basic HR 100m	 1	 pc	 LRU



9

Your Aquaculture Technology and Service Partner

AkvaCamera Super HR 30m
#0101123

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0101123	 AkvaCamera Super HR 30m	 1	 pc	 LRU		
		  11T6482011	 Dust Cap for Cable Plug, male	 1	 pc	 LRU	
	

AkvaCamera Super HR 40m
#0101865

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0101865	 AkvaCamera Super HR 40m	 1	 pc	 LRU		
		  11T6482011	 Dust Cap for Cable Plug, male	 1	 pc	 LRU	
	
Not available as product - only available as spare part



10

AkvaCamera Super HR 60m
#0102483

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0102483	 AkvaCamera Super HR 60m	 1	 pc	 LRU		
		  11T6482011	 Dust Cap for Cable Plug, male	 1	 pc	 LRU	
	

AkvaCamera Super HR 100m
#0102240

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0102240	 AkvaCamera Super HR 100m	 1	 pc	 LRU		
		  11T6482011	 Dust Cap for Cable Plug, male	 1	 pc	 LRU	
	



11

Your Aquaculture Technology and Service Partner

SmartEye 360 Twin w/2 Colour Camera MKII wo/ sensor
#10000829

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10000829	 SmartEye 360 Twin w/2 Colour Cam MKII wo/s	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU

SmartEye 360 Twin w/2 Colour Camera MKII, 30m
#10000792

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10000792	 SmartEye 360 Twin w/2 Colour Cam MKII, 30m	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU



12

SmartEye 360 Twin w/2 Colour Camera MKII, 50m
#10000851

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10000851	 SmartEye 360 Twin w/2 Colour Cam MKII, 50m	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10000826	 SmartEye 360 Twin w/2 Colour Cam MKII, 75m	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU

SmartEye 360 Twin w/2 Colour Camera MKII, 75m
#10000826



13

Your Aquaculture Technology and Service Partner

SmartEye 360 Twin w/ 2 Color Camera
#0105433

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0105433	 SmartEye 360 Twin w/ 2 Color Camera	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU
	 	

SmartEye 360 Twin Colour/ULL 75m
#10003562

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 10003562	 SmartEye 360 Twin Colour/ULL 75m	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU
	 	



14

CAP Smart Yellow
#0103805

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0103805	 CAP Smart Yellow	 1	 pc	 LRU		
		  11T6483001	 Dustcap for Cable Plug, C16-1	 3	 pc	 LRU		
		  11T6482001	 Dustcap for Cable Plug, male	 1	 pc	 LRU	



CAP Digital - Yellow
#10001105

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 10001105	 CAP Digital - Yellow	 1	 pc	 LRU		
		

CAP Config USB micro
#10000900

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10000900	 CAP Config USB micro	 1	 pc	 LRU



16

AkvaCamera SmartBox Directional Antenna 
#0103095

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0103095	 AkvaCamera SmartBox Directional Antenna	 1	 pc	 LRU		
		  11T6483000	 Dust Cap	 3	 pc	 LRU
	 2	 0102864	 CSU Directional Antenna 5,8GHz - 6 ch. Assy	 1	 pc	 BOM page 17



17

Your Aquaculture Technology and Service Partner

CSU Directional Antenna 5,8GHz - 6 Channel Assembly
#0102864

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 4	 0102850	 CSU - Bar for Printcard and Aerial	 1	 pc	 LRU
	 5	 0100458	 MntEq DstElem M3x10	 2	 pc	 LRU		
	 6	 0102862	 CSU Directional Antenna 5,8GHz	 1	 pc	 LRU		
	 7	 12798503064	Screw Pan Head M3x6	 2	 pc	 LRU		
	 8	 0102176	 Transmitter 5,8GHz AV 6-channel	 1	 pc	 LRU		
	 10	 0102846	 CSU - CAP for Aerial	 1	 pc	 LRU		
	 13	 0103031	 Seal O-Ring Ø52,07x2,62mm NBR	 1	 pc	 LRU		
	 14	 0102848	 CSU - Retainer Ring for Aerial Cap	 1	 pc	 LRU		
	 15	 13 450 35	 Cable-ties 2,5x98mm black	 2	 pc	 LRU		
	 16	 0103970	 MntEq Velcro 20mm x 3m	 0,05	 m	 LRU		
		  10922	 Silica Gel Desiccant 10gr	 1	 pc	 LRU		
		



18

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0103024	 AkvaCamera CVU 5,8Ghz - Directional Antenna	 1	 pc	 LRU		
		  11T6483000	 Dust Cap	 3	 pc	 LRU		
		  0101106	 CSU UHF Antenna Whip +4dB	 1	 pc	 LRU	
	

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0103025	 AkvaSensor CSU 5,8Ghz - Directional Antenna	 1	 pc	 LRU		
		  11T6483000	 Dust Cap	 3	 pc	 LRU		
		  0102864	 CSU Dir. Antenna 5,8GHz - 6Ch Assy.	 1	 pc	 BOM page 17	
		

AkvaSensor CSU 5,8GHz - Directional Antenna 
#0103025

AkvaCamera CVU 5,8GHz - Directional Antenna 
#0103024



19

Your Aquaculture Technology and Service Partner

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 1	 0103004	 Video 5,8GHz Amplifier Board	 1	 pc	 LRU		
	 2	 12798503064	Screw Pan Head M3x6	 2	 pc	 LRU		
		  0102864	 CSU Directional Antenna 5,8GHz - 6Ch Assy.	 1	 pc	 BOM page 17

CSU Directional Antenna w/ Video Amplifier 5,8GHZ 
#0102964

CageBox 1
#0100902 

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100902	 CageBox 1	 1	 pc	 LRU		
		  0100958	 Dust Cap 14pin Pin Hirshmann	 2	 pc	 LRU		
		  11T6483000	 Dust Cap	 2	 pc	 LRU	



20

CageBox 2
#0100903

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100903	 CageBox 2	 1	 pc	 LRU		
		  0100958	 Dust Cap 14pin Pin Hirshmann	 2	 pc	 LRU		
		  11T6483000	 Dust Cap	 2	 pc	 LRU	

CageBox 3
#0100904

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100904	 CageBox 3	 1	 pc	 LRU		
		  0100958	 Dust Cap 14pin Pin Hirshmann	 2	 pc	 LRU		
		  11T6483000	 Dust Cap	 2	 pc	 LRU	

CageBox 4
#0100905

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100905	 CageBox 4	 1	 pc	 LRU		
		  0100958	 Dust Cap 14pin Pin Hirshmann	 2	 pc	 LRU		
		  11T6483000	 Dust Cap	 2	 pc	 LRU	



21

Your Aquaculture Technology and Service Partner

CageBox 5
#0100906

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100906	 CageBox 5	 1	 pc	 LRU		
		  0100958	 Dust Cap 14pin Pin Hirshmann	 2	 pc	 LRU		
		  11T6483000	 Dust Cap	 2	 pc	 LRU	

CageBox 6
#0100907

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100907	 CageBox 6	 1	 pc	 LRU		
		  0100958	 Dust Cap 14pin Pin Hirshmann	 2	 pc	 LRU		
		  11T6483000	 Dust Cap	 2	 pc	 LRU	

CageBox 7
#0100908

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100908	 CageBox 7	 1	 pc	 LRU		
		  0100958	 Dust Cap 14pin Pin Hirshmann	 2	 pc	 LRU		
		  11T6483000	 Dust Cap	 2	 pc	 LRU	



22

CageBox 8
#0100909

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100909	 CageBox 8	 1	 pc	 LRU		
		  0100958	 Dust Cap 14pin Pin Hirshmann	 2	 pc	 LRU		
		  11T6483000	 Dust Cap	 2	 pc	 LRU	

CageBox 9
#0100910

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100910	 CageBox 9	 1	 pc	 LRU		
		  0100958	 Dust Cap 14pin Pin Hirshmann	 2	 pc	 LRU		
		  11T6483000	 Dust Cap	 2	 pc	 LRU	

CageBox 10
#0100911

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100911	 CageBox 10	 1	 pc	 LRU		
		  0100958	 Dust Cap 14pin Pin Hirshmann	 2	 pc	 LRU		
		  11T6483000	 Dust Cap	 2	 pc	 LRU	



23

Your Aquaculture Technology and Service Partner

CageBox 11
#0100912

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100912	 CageBox 11	 1	 pc	 LRU		
		  0100958	 Dust Cap 14pin Pin Hirshmann	 2	 pc	 LRU		
		  11T6483000	 Dust Cap	 2	 pc	 LRU	

CageBox 12
#0100913

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100913	 CageBox 12	 1	 pc	 LRU		
		  0100958	 Dust Cap 14pin Pin Hirshmann	 2	 pc	 LRU		
		  11T6483000	 Dust Cap	 2	 pc	 LRU	



24

SmartEye Com Radio 2,4GHz
#0101658

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 11	 0101620	 2,4GHz Transiever Board	 1	 pc	 LRU		
	 12	 0101585	 Transiever 2,4GHZ, Radio Board	 1	 pc	 LRU		
		  10924	 Silica Gel 25gr	 1	 pc	 LRU		
		  11T6483000	 Dust Cap	 2	 pc	 LRU		
		  0101989	 Cable Base - -> Antenna 1,5m	 1	 pc	 LRU		
		



25

Your Aquaculture Technology and Service Partner

AkvaSensor Base Cmd Radio
#0100725

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 3	 0100636	 UHF Antenna Base	 1	 pc	 LRU		
	 5	 0100527	 CCS Radio v1.0 Circuit Board w/CAN	 1	 pc	 LRU		
		  10924	 Silica Gel 25gr	 1	 pc	 LRU	



26

VideoBase 5,8GHz 6 Channel Video
#0102305

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 11T6483000	 Dust Cap	 2	 pc	 LRU		
		  10924	 Silica Gel 25gr	 1	 pc	 LRU		
		  0101989	 Cable Base --> Antenna 1,5m	 1	 pc	 LRU
		  0102474	 Reciever 5,8GHz AV 6-channel	 1	 pc	 LRU

Wireless Access Point V2
#0103070

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0103070	 Wireless Access Point V2	 1	 pc	 LRU		
		  0104174	 Dustcap for Antenna Plug	 2	 pc	 LRU



27

Your Aquaculture Technology and Service Partner

Temperature Sensor CSU 30m Cable
#0100715

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0102657	 Temperature CSU 50m Cable	 1	 pc	 LRU		
	 1	 11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU		
					�    
	

AkvaSensor Current 0-50cm/sec
#0101645

AkvaSensor Current 0-100cm/sec
#0102047

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0101645	 AkvaSensor Current 0-50cm/sec	 1	 pc	 LRU	
					   

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0102047	 AkvaSensor Current 0-100cm/sec	 1	 pc	 LRU	
 			 

Temperature Sensor CSU 50m Cable
#0102657

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100715	 Temperature Sensor CSU 30m Cable	 1	 pc	 LRU	
	 1	 11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU		
		



28

Oxygen Sensor PRO-X PPM Mg/l Freshwater 100m
#0105844

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	

AkvaSensor Weight 500gr w/ gasket
#0105746

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 1	 0102156	 Sensor Weight 1/2 bolt	 2	 pc	 LRU		
	 2	 91206204	 Screw Hex Socket M6x20	 2	 pc	 LRU		
	 3	 69230604	 Nut Grooved M6	 2	 pc	 LRU		
	 4	 0103022	 Seal O-ring String Nitrile 6mm 40Sh	 0,045	 pc	 LRU	
	



29

Your Aquaculture Technology and Service Partner

Oxygen Sensor PRO-X PPM Mg/l Freshwater 10m
#0106189

Oxygen Sensor PRO-X PPM Mg/l Saltwater 10m
#0106188

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	



30

Oxygen Sensor PRO-X % Sat Freshwater 10m
#0106191

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	

Oxygen Sensor PRO-X % Sat Saltwater 10m
#0106190

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	



31

Your Aquaculture Technology and Service Partner

Oxygen Sensor PRO-X PPM Mg/l Freshwater 50m
#0106193

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	

Oxygen Sensor PRO-X PPM Mg/l Saltwater 50m
#0106192



32

Oxygen Sensor PRO-X % Sat Saltwater 50m
#0106194

Oxygen Sensor PRO-X % Sat Freshwater 50m
#0106195

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	



33

Your Aquaculture Technology and Service Partner

Oxygen Sensor PRO-X % Sat Freshwater 100m
#0106349

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	

Oxygen Sensor PRO-X % Sat Saltwater 100m
#0106350

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	



Oxygen Sensor PRO-X 50m Cable
#10000853

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	

Oxygen Sensor PRO-X 10m Cable
#10000854

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	



Oxygen Sensor PRO-X 100m Cable
#10000865

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	

Oxygen Sensor PRO-X 10m cable 4-20mA
#10002534

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105746	 AkvaSensor Weight 500gr w/ gasket	 1	 pc	 BOM page 28	
		  0106196	 User Manual Oxygen Sensor RDO	 1	 pc	 LRU		
	



36

Foil Kit for Oxygen Optode
#0104226

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104226	 Foil Kit for Oxygen Optode	 1	 pc	 LRU

Foil Kit for Oxygen Optode RDO
#0105747

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105747	 Foil Kit for Oxygen Optode RDO	 1	 pc	 LRU

Foil Kit for Oxygen Optode RDO PRO-X
#10000855

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10000855	 Foil Kit for Oxygen Optode RDO PRO-X	 1	 pc	 LRU



37

Your Aquaculture Technology and Service Partner

AkvaSensor Base Cmd Cable 30m
#0100720

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100720	 AkvaSensor Base Cmd Cable 30m	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU
		

AkvaSensor Base Cmd Ext. Cable 5m
#0100747

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0100747	 AkvaSensor Base Cmd Ext. Cable 5m	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 2	 pc	 LRU		
		

Cable Power --> Base
#0101629

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101629	 Cable Power --> Base	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 2	 pc	 LRU		
		



38

AkvaSensor SmartEye Ext. Cable
#0101828

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101828	 AkvaSensor SmartEye Ext. Cable	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 2	 pc	 LRU		
		

Cable Video Power --> Base
#0101602

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0101602	 Cable Video Power --> Base	 1	 pc	 LRU

Cable Power --> Monitor Video
#0101627

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101627	 Cable Power --> Monitor Video	 1	 pc	 LRU

Akva Base Cmd Ext Cable
#0101631

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101631	 Akva Base Cmd Ext Cable	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male 	 2	 pc	 LRU		
	



39

Your Aquaculture Technology and Service Partner

AkvaCamera Ext Cable 4m 
#10001695

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 10001695	 AkvaCamera Ext Cable 4m	 1	 pc	 LRU

Cable Power --> P/T Controller
#0101628

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101628	 Cable Power --> P/T Controller	 1	 pc	 LRU

AkvaCamera Ext Cable 10m 
#10002824

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 10002824	 AkvaCamera Ext Cable 10m	 1	 pc	 LRU

AkvaCamera Ext Cable 50m 
#0102784

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0102784	 AkvaCamera Ext Cable 50m	 1	 pc	 LRU

SmartEye 360 ext. Cable 20m 
#10003601

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 10003601	 SmartEye 360 ext. Cable 20m	 1	 pc	 LRU



40

Cable Battery 4mm^2 
#0103412

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0103412	 Cable Battery 4mm^2	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU		
		  0105076	 Fuse 6,3x32 Glass 10A	 1	 pc	 LRU

Cable Battery 4mm^2 CAP 
#0104951

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104651	 Cable Battery 4mm ^2	 1	 pc 	 LRU
		  11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU		
		  0105076 	 Fuse 6,3x32 Class 10A	 1	 pc	 LRU

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 10000912	 Power Cable KIT Battery  4mm^2	 1	 pc	 LRU

Power Cable KIT Battery 4mm^2 CAP 
#10000912



41

Your Aquaculture Technology and Service Partner

Network Cable Cat5 10m
#0103842

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0103842	 Network Cable Cat5 10m	 1	 pc	 LRU

Network Cable Cat5/Cat6, 7m
#0102010

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0102010	 Network Cable Cat5/Cat6, 7m	 1	 pc	 LRU

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0105877	 Network Cable Cat5E/Cat6 2m	 1	 pc	 LRU

Network Cable Cat5E/Cat6 2m
#0105877

Network Cable Cat5E/Cat6 5m
#0105878

Network Cable Cat5 10m
#0103842

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0105878	 Network Cable Cat5E/Cat6 5m	 1	 pc	 LRU

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0103842	 Network Cable Cat5 10m	 1	 pc	 LRU



42

MultiCable SmartBox - Wired 15m
#0101816

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0101816	 MultiCable SmartBox - Wired 15m	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 2	 pc	 LRU

MultiCable SmartBox - Wired 30m
#0101732

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0101732	 MultiCable SmartBox - Wired 30m	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 2	 pc	 LRU

MultiCable SmartBox - Wired 45m
#0101818

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0101818	 MultiCable SmartBox - Wired 45m	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 2	 pc	 LRU



43

Your Aquaculture Technology and Service Partner

MultiCable SmartBox - Wired 60m
#0101817

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101817	 MultiCable SmartBox - Wired 60m	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable, male	 2	 pc	 LRU	

MultiCable SmartBox - Wired 70m
#0101819

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0101819	 MultiCable SmartBox - Wired 70m	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 2	 pc	 LRU

MultiCable SmartBox - Wired 80m
#0101764

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101764	 MultiCable SmartBox - Wired 80m	 1	 pc	 LRU		
		  11T6482001	 Dust Cap for Cable Plug, male	 2	 pc	 LRU	



44

Multicontrol Video Cable 120m 1 Plug
#0102488

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0102488	 Multicontrol Video Cable 120m 1 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 1	 pc	 LRU

Multicontrol Video Cable 60m 1 Plug
#0105195

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105195	 Multicontrol Video Cable 60m 1 Plug	 1	 pc	 LRU	 	
		  0100959	 Dust Cap 14pin Sct Hirschmann	 1	 pc	 LRU

Multicontrol Video Cable 200m 1 Plug
#0101035

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101035	 Multicontrol Video Cable 200m 1 Plug	 1	 pc	 LRU	 	
		  0100959	 Dust Cap 14pin Sct Hirschmann	 1	 pc	 LRU



45

Your Aquaculture Technology and Service Partner

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0103900	 Multicontrol Video Cable 250m 1 Plug	 1	 pc	 LRU	 	
		  0100959	 Dust Cap 14pin Sct Hirschmann	 1	 pc	 LRU

Multicontrol Video Cable 5m 2 Plug
#0102696

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0102696	 Multicontrol Video Cable 5m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 250m 1 Plug
#0103900

Multicontrol Video Cable 20m 2 Plug
#0100915

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0100915	 Multicontrol Video Cable 20m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU



46

Multicontrol Video Cable 25m 2 Plug
#0100916

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0100916	 Multicontrol Video Cable 25m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 30m 2 Plug
#0100917

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0100917	 Multicontrol Video Cable 30m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 35m 2 Plug
#0100918

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0100918	 Multicontrol Video Cable 35m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU



47

Your Aquaculture Technology and Service Partner

Multicontrol Video Cable 40m 2 Plug
#0100919

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0100919	 Multicontrol Video Cable 40m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 45m 2 Plug
#0100920

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0100920	 Multicontrol Video Cable 45m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 50m 2 Plug
#0100921

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0100921	 Multicontrol Video Cable 50m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU



48

Multicontrol Video Cable 60m 2 Plug
#0101021

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101021	 Multicontrol Video Cable 60m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 70m 2 Plug
#0100922

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0100922	 Multicontrol Video Cable 70m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 80m 2 Plug
#0101022

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101022	 Multicontrol Video Cable 80m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU



49

Your Aquaculture Technology and Service Partner

Multicontrol Video Cable 90m 2 Plug
#0101023

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101023	 Multicontrol Video Cable 90m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 100m 2 Plug
#0101034

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101034	 Multicontrol Video Cable 100m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 110m 2 Plug
#0102602

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0102602	 Multicontrol Video Cable 110m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU



50

Multicontrol Video Cable 115m 2 Plug
#0102601

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0102601	 Multicontrol Video Cable 115m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 130m 2 Plug
#0101880

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101880	 Multicontrol Video Cable 130m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 150m 2 Plug
#0102599

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0102599	 Multicontrol Video Cable 150m 2 Plug	 1	 pc	 LRU		
 		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU



51

Your Aquaculture Technology and Service Partner

Multicontrol Video Cable 180m 2 Plug
#0102377

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0102377	 Multicontrol Video Cable 180m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 200m 2 Plug
#0104017

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104017	 Mulitcontrol Video Cable 200m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 250m 2 Plug
#0104198

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104198	 Mulitcontrol Video Cable 250m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU



52

Multicontrol Video Cable 300m 2 Plug
#0104018

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104018	 Multicontrol Video Cable 300m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 360m 2 Plug
#0105906

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0105906	 Multicontrol Video Cable 360m 2 Plug	 1	 pc	 LRU		
 		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Multicontrol Video Cable 400m 2 Plug
#0104019

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104019	 Multicontrol Video Cable 400m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU



53

Your Aquaculture Technology and Service Partner

Multicontrol Video Cable 450m 2 Plug
#0104224

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104224	 Multicontrol Video Cable 450m 2 Plug	 1	 pc	 LRU		
		  0100959	 Dust Cap 14pin Sct Hirschmann	 2	 pc	 LRU

Splice Multicontrol Video Cable
#0104156

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0104156	 Splice Multicontrol Video Cable	 1	 pc	 LRU		
	 1	 0100958	 Dust Cap 14pin Hirschmann	 2	 pc	 LRU		
	



54

CCS Control Unit

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 1	 0100522	 CCS Unit v1.0	 1	 pc	 LRU		
	 2	 0100726	 Cable D-sub 9pin set	 1	 pc	 LRU		
	 3	 0100725	 Akvasensor Base Cmd Radio	 1	 pc	 BOM page 25

P/T Controller
#0101769

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101769	 P/T Controller	 1	 pc	 LRU		
		  0105743	 Sparepart Spring for Joystick on PT control		  pc	 LRU



55

Your Aquaculture Technology and Service Partner

SmartWinch MKII Single System
#0103391

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101664	 SmartWinch - Dual Pulley	 1	 pc	 LRU		
		  0101670	 SmartWinch - Single Pulley	 1	 pc	 LRU		
		  0103128	 U-Bolt FZV 42mm M8	 2	 pc	 LRU		
		  13 450 40	 Cable-ties 4,8x360mm, black	 20	 pc	 LRU		
		  0102015	 Pulley Bumper	 2	 pc	 LRU		
		  0103392	 SmartWinch MKII Single	 1	 pc	 BOM page 55	
		  0102792	 Washer M8 FZB	 4	 pc	 LRU		
		  0102793	 Nut M8 FZB	 4	 pc	 LRU
		  0102034	 Rope 4mm 110m	 1	 pc	 LRU

SmartWinch MKII Single
#0103392

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 1	 0103393	 SmartWinch MKII - Single, 12V	 1	 pc	 LRU		
	 2	 11T3104001	 Cable Plug C16-1 Male 6+G PG 9	 1	 pc	 LRU		
	 3	 11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU	



56

SmartWinch Dual System MKII
#0103383

Winch MKII - Dual Unit Ø110, 12V
#0103384

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101670	 SmartWinch - Single Pulley	 1	 pc	 LRU		
		  0101664	 SmartWinch - Dual Pulley	 1	 pc	 LRU		
		  0103384	 Winch MKII - Dual Unit Ø110, 12V	 1	 pc	 LRU		
		  0103128	 U-Bolt fzv 42mm M8	 2	 pc	 LRU		
		  13 450 40	 Cable-ties 4,8x360mm, black	 20	 pc	 LRU		
		  0102015	 Pulley Bumper	 2	 pc	 LRU		
		  0102792	 Washer M8 FZB	 4	 pc	 LRU		
		  0102793	 Nut M8 FZB	 4	 pc	 LRU
		  0103439	 Rope 2mm 110m White	 1	 pc	 LRU

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 1	 0103385	 Winch MKII - Dual Ø110, 12V	 1	 pc	 LRU		
	 3	 11T3104001	 Cable Plug C16-1 Male 6+G PG9	 1	 pc	 LRU		
	 4	 11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU	
		  0101661	 SmartWinch - motor	 2	 pc 	 LRU



57

Your Aquaculture Technology and Service Partner

Winch HT Dual
#10000410

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 1	 10000372	 Winch HT Dual Assembly	 1	 pc	 LRU		
	 2	 10000368	 Winch HT Dual External GRND Box	 1	 pc	 BOM page 58	
		  11T6482001	 Dust Cap for Cable Plug, male	 1	 pc	 LRU	
		  0103439	 Rope 2mm 110m White	 1	 pc	 LRU



58

Winch HT Dual External GRND Box
#10000368

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 11	 11T6483000	 Dust Cap	 2	 pc	 LRU		
	 12	 11T6482000	 Dust Cap for Chassis	 2	 pc	 LRU		
		

Cable Extension for Winch 2m
#10001581

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 10001581	 Cable Extension for Winch 2m	 1	 pc 	 LRU		
	



59

Your Aquaculture Technology and Service Partner

Winch V5 MKII
#10003661

Extension Cable Winch V5
#10002707

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10002713	 Dustcap QPD QSK BK 3/4X1,5 FS	 1	 pc	 LRU
		  11T6483000	 Dust cap	 3	 pc	 LRU
		  10002827	 Rope 4mm 140m	 1,5	 m	 LRU

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10002707	 Extension Cable Winch V5	 1	 pc	 LRU



60

Cable Winch V5 - Digital CAP Network
#10003653

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10003653	 Cable Winch V5 - Digital CAP Network	 1	 pc	 LRU

Winch V5 - Mounting Bracket
#10001492

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10001492	 Winch V5 - Mounting Bracket	 1	 pc	 LRU



61

Your Aquaculture Technology and Service Partner

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0100784	 Tapping Sleeve w/ Screw 140-2	 1	 pc	 LRU		
		  25050	 MntEq DistElem Pipe Ø60 L500	 1	 pc	 LRU 

Cage Bracket Plast Cage 125mm (Plastic Cage)
#0100937

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10871	 Tapping Sleeve w/ Screw 125-2	 1	 pc	 LRU		
		  25050	 MntEq DistElem Pipe Ø60 L500	 1	 pc	 LRU

Cage Bracket Plast Cage 140mm (Plastic Cage)
#0102051

Cage Bracket Plast Cage 110mm (Plastic Cage)
#0100111

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10868	 Tapping Sleeve w/ Screws 110mm	 1	 pc	 LRU
		  25050	 MntEq DistElem Pipe Ø60 L500	 1	 pc	 LRU

Suspension Kit for CSU and CVU

Universal Hand Rail Bracket (Steel Cage)
#0102102

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101840	 Universal Mounting Bracket	 2	 pc	 BOM page 61	
		  25065	 Pipe 40x2x1200mm ALU	 1	 pc	 LRU		
		  0102107	 POM Adapter 40mm SmartBox Bracket	 1	 pc	 LRU		
		  0102034	 Rope 4mm 110m	 1	 pc	 LRU		
		  91608104	 Screw set M8x10	 3	 pc	 LRU

Universal Mounting Bracket
#0101840

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101838	 Mounting Bracket Universal	 1	 pc	 LRU		
		  0101839	 Seating Washer	 1	 pc	 LRU		
		  0101680	 Clamp 42mm Steeel Cage	 2	 pc	 LRU



62

Suspension Kit for CAP

CAP - Suspension Kit, 50x80 Rail Post (Plastic Cage)
#0104788

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104787	 Square Clamp 50x80	 2	 pc	 LRU		
		  0104835	 Channel Nut M12 Unistrut	 4	 pc	 LRU		
		  0104842	 Screw Hex Head M12x25 FZV	 4	 pc	 LRU

CAP - Suspension Kit, 60x80 Rail Post (Platic Cage)
#0104832

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104833	 Square Clamp 60x80	 2	 pc	 LRU		
		  0104835	 Channel nut M12 Unistrut	 4	 pc	 LRU		
		  0104842	 Screw Hex Head M12x25 FZV	 4	 pc	 LRU

CAP - Suspension Kit, 80x80 Rail Post (Plastic Cage)
#0104671

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104670	 Square Clamp 80x80	 2	 pc	 LRU		
		  0104835	 Channel Nut M12 Unistrut	 4	 pc	 LRU		
		  0104842	 Screw Hex Head M12x25 FZV	 4	 pc	 LRU

CAP - Suspension Kit, 110mm Rail Post (Plastic Cage)
#0105355

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104835	 Channel Nut M12 Unistrut	 4	 pc	 LRU		
		  0104842	 Screw Hex Head M12x25 FZV	 4	 pc	 LRU		
		  0105354	 Pipe Clamp 110mm	 2	 pc	 LRU



63

Your Aquaculture Technology and Service Partner

CAP - Suspension Kit, 140mm Rail Post (Plastic Cage)
#0104776

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104835	 Channel Nut M12 Unistrut	 4	 pc	 LRU		
		  0104842	 Screw Hex Head M12x25 FZV	 4	 pc	 LRU		
		  0104843	 Pipe Clamp 140mm	 2	 pc	 LRU	  

CAP - Suspension Kit, 160mm Rail Post (Plastic Cage)
#0104552

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104835	 Channel nut M12 Unistrut	 4	 pc	 LRU		
		  0104842	 Screw Hex Head M12x25	 4	 pc	 LRU		
		  0104857	 Pipe Clamp 160mm	 2	 pc	 LRU

Pipe Clamp M11 (Steel Cage)
#0104676

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0104676	 Pipe Clamp M11 Ø34,9mm-Ø39,7mm FZV Unis.	 optional	 pc	 LRU



64

Universal Hand Rail Bracket (Steel Cage)
#0102102

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101840	 Universal Mounting Bracket	 2	 pc	 BOM page 61
		  25065	 Pipe 40x2x1200mm ALU	 1	 pc	 LRU		
		  0102107	 POM Adapter 40mm SmartBox Bracket	 1	 pc	 LRU		
		  0102034	 Rope 4mm 110m	 1	 pc	 LRU		
		  91608104	 Screw Set M8x10	 3	 pc	 LRU

Suspension Kit, 110mm (Pastic Cage)
#0102035

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10868	 Tapping Sleeve w/ Screws 110mm	 1	 pc	 LRU		
		  0102034	 Rope 4mm 110m	 1	 pc	 LRU		
		  25050	 MntEq DistElem Pipe Ø60 L500	 1	 pc	 LRU

Suspension Kit, 125mm (plastic Cage)
#0104441

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0102034	 rope 4mm 110m	 1	 pc	 LRU		
		  10871	 Tapping Sleeve w/ Screw 125-2	 1	 pc	 LRU		
		  25050	 MntEq Distelem Pipe Ø60 L500	 1	 pc	 LRU

Suspension Kit, 140mm (Plastic Cage)
#0102036

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0100784	 Tapping Sleeve w/ Screws 140-2	 1	 pc	 LRU		
		  0102034	 Rope 4mm 110m	 1	 pc	 LRU		
		  25050	 MntEq DistElem Pipe Ø60 L500	 1	 pc	 LRU

Suspension Kit for Smart Camera



65

Your Aquaculture Technology and Service Partner

Suspension Kit for Winch w/ CAP

Universal Hand Rail Bracket (Steel Cage)
#0102102

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101840	 Universal Mounting Bracket	 2	 pc	 BOM page 61
		  25065	 Pipe 40x2x1200mm ALU	 1	 pc	 LRU		
		  0102107	 POM Adapter 40mm SmartBox Bracket	 1	 pc	 LRU		
		  0102034	 Rope 4mm 110m	 1	 pc	 LRU		
		  91608104	 Screw Set M8x10	 3	 pc	 LRU

Winch HT Suspension Kit, 110mm (Pastic Cage)
#10000407

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 1250804	 Washer M8	 5	 pc	 LRU
		  0101720	 Rope Elastic 2,5m x 10mm	 3	 pc	 LRU		
		  10000403	 Ronstan Orbit 30 Blokker	 1	 pc	 LRU		
		  10000404	 Carabiner 50mm	 1	 pc	 LRU		
		  69230804	 Nut Grooved M8	 5	 pc	 LRU		
		  0101696	 Plastic Cage Clamp 65mm	 2	 pc	 LRU		
		  91208704	 Screw Hex Socket M8x70	 5	 pc	 LRU	�
		  10000406	 Dinghy Light Rope 6mm red/yellow 110m	 1	 pc	 LRU		
		  0102015	 Pully Bumper	 2	 pc	 LRU		
		  0101721	 MntEq DistElem Ø60 L300	 1	 pc	 LRU		
		  10868	 Tapping Sleeve w/ Screws 110mm	 1 	 pc	 LRU		
		  0102034	 Rope 4mm 110m	 0,05	 pc	 LRU		
		  10000405	 Blokker Allen	 2	 pc	 LRU



66

Winch HT Suspension Kit, 125mm (Pastic Cage)
#10000412

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101721	 MntEq DistElem Pipe Ø60 L300	 1	 pc	 LRU		
		  0102015	 Pully Bumper	 2	 pc	 LRU
		  0101720	 Rope Elastic 2,5m x 10mm	 3	 pc	 LRU		
		  1250804	 Washer M8	 5	 pc	 LRU		
		  0101696	 Plastic Cage Clamp 65mm	 2	 pc	 LRU		
		  69230804	 Nut Grooved M8	 5	 pc	 LRU		
		  10000406	 Dinghy Light Rope 6mm red/yellow 110m	 1	 pc	 LRU		
		  91208704	 Screw Hex Socket M8x70	 5	 pc	 LRU		
		  10000404	 Carabiner 50mm	 1	 pc	 LRU		
		  10000403	 Ronstant Orbit 30 Blokker	 1	 pc	 LRU		
		  10871	 Tapping Sleeve w/ Screws 125-2	 1	 pc	 LRU		
		  0102034	 Rope 4mm 110m	 0,05	 pc	 LRU		
		  10000405	 Blokker Allen	 2	 pc	 LRU	

Winch HT Suspension Kit, 140mm (Pastic Cage)
#10000411

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101721	 MntEq DistElem Pipe Ø60 L300	 1	 pc	 LRU		
		  0102015	 Pully Bumper	 2	 pc	 LRU
		  10000406	 Dinghy Light Rope 6mm red/yellow 110m	 1	 pc	 LRU		
		  91208704	 Screw Hex Socket M8x70	 5	 pc	 LRU
		  0101696	 Plastic Cage Clamp 65mm	 2	 pc	 LRU		
		  69230804	 Nut Grooved M8	 5	 pc	 LRU		
		  10000404	 Carabiner 50mm	 1	 pc	 LRU		
		  10000403	 Ronstan Orbit 30 Blokker	 1	 pc	 LRU		
		  0101720	 Rope Elastic 2,5m x10mm	 3	 pc	 LRU		
		  1250804	 Washer M8	 5	 pc	 LRU		
		  0100784	 Tapping Sleeve w/ Screws 140-2	 1	 pc	 LRU		
		  10000405	 Blokker Allen	 2	 pc	 LRU		
		  0102034	 Rope 4mm 110m	 0,05	 pc	 LRU	



67

Your Aquaculture Technology and Service Partner

Suspension Kit for Winch w/ SmartBox

Universal Hand Rail Bracket (Steel Cage)
#0102102

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101840	 Universal Mounting Bracket	 2	 pc	 BOM page 61
		  25065	 Pipe 40x2x1200mm ALU	 1	 pc	 LRU		
		  0102107	 POM Adapter 40mm SmartBox Bracket	 1	 pc	 LRU		
		  0102034	 Rope 4mm 110m	 1	 pc	 LRU		
		  91608104	 Screw Set M8x10	 3	 pc	 LRU

Suspension Kit, 110mm (Pastic Cage)
#0101718

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101696	 Plastic Cage Clamp 65mm	 2	 pc	 LRU
		  0101720	 Rope Elastic 2,5m x 10mm	 2	 pc	 LRU
		  0101721	 MntEq DistElem Ø60 L300	 1	 pc	 LRU		
		  10868	 Tapping Sleeve w/ Screws 110mm	 2	 pc	 LRU		
		  25050	 MntEq DistElem Ø60 L500	 1	 pc	 LRU		
		  91208704	 Screw Hex Socket M8x70	 5	 pc	 LRU		
		  69230804	 Nut Grooved M8	 5	 pc	 LRU		
		  0100503	 MntEq Carabin Hook l=100mm	 2	 pc	 LRU		
		  1250804	 Washer M8	 5	 pc	 LRU		
		  0102034	 Rope 4mm 110m	 1	 pc	 LRU 



68

Suspension Kit, 125mm (Pastic Cage)
#0104422

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101696	 Plastic Cage Clamp 65mm	 2	 pc	 LRU
		  0101720	 Rope Elastic 2,5m x 10mm	 2	 pc	 LRU
		  0101721	 MntEq DistElem Pipe Ø60 L300	 1	 pc	 LRU		
		  10871	 Tapping Sleeve w/ Scres 125-2	 2	 pc	 LRU		
		  25050	 Mnteq DistElem Pipe Ø60 L500	 1	 pc	 LRU		
		  91208804	 Screw Hex Socket M8x80	 7	 pc	 LRU		
		  69230804	 Nut Grooved M8	 7	 pc	 LRU		
		  0100503	 MntEq Carabin Hook l=100mm	 2	 pc	 LRU		
		  1250804	 Washer M8	 7	 pc	 LRU		
		  0102034	 Rope 4mm 110m	 1	 pc	 LRU

Suspension Kit, 140mm (Pastic Cage)
#0101719

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101696	 Plastic Cage Clamp 65mm	 2	 pc	 LRU		
		  0101720	 Rope Elastic 2,5m x 10mm	 2	 pc	 LRU		
		  0101721	 MntEq DistElem Pipe Ø60 L300	 1	 pc	 LRU		
		  0100784	 Tapping Sleeve w/ Scews 140-2	 2	 pc	 LRU		
		  25050	 MntEq DistElem Pipe Ø60 L500	 1	 pc	 LRU		
		  91208804	 Screw Hex Socket M8x80	 7	 pc	 LRU		
		  69230804	 Nut Grooved M8	 7	 pc	 LRU		
		  0100503	 MntEq Carabin Hook l=100mm	 2	 pc	 LRU		
		  1250804	 Washer M8	 7	 pc	 LRU		
		  0102034	 Rope 4mm 10m	 1	 pc	 LRU



69

Your Aquaculture Technology and Service Partner

Winch V5 Mounting Kit Cage
#10002995

Winch V5 suspension kit IEC
#10002789

Winch V5 Mounting Kit IEC
#10002994

Winch V5 Mounting kit Qpd
#10002997

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0101720	 Rpoe Elastic 2,5m x 10mm	 1	 pc	 LRU
		  0103651	 CAP - Battery Box Yellow	 1	 pc	 LRU		
		  0103674	 CAP - Raiser Pipe	 1	 pc	 LRU		
		  0104818	 Cable Fastener CAP <=Ø13	 2	 pc	 LRU
		  10000403	 Ronstan Orbit 30 blokker	 1	 pc	 LRU		
		  10000404	 Carabiner 50 mm	 1	 pc	 LRU		
		  10002707	 Extension Cable Winch V5	 1	 pc	 LRU		
		  91606064	 Screw Set M6x6	 6	 pc	 LRU

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

	 	 0101720	 Rope Elastic 2,5m x 10mm	 1	 pc 	 LRU		
		  10000403	 Ronstan Orbit 30 blokker	 1	 pc	 LRU		
		  10000404	 Carabiner 50mm	 1	 pc	 LRU		
		  10002702	 Extension Cable Winch V5	 1	 pc	 LRU

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  0103651	 CAP - Battery Box Yellow	 1	 pc	 LRU		
		  0103674	 CAP - Raiser Pipe 	 1	 pc	 LRU	�
	

	 Position	 Number 	 Item Name	 Quantity 	 Unit	 BOM/LRU

		  10000403	 Ronstan Orbit 30 blokker 	 1	 pc	 LRU		
		  10000404	 Carabiner 50mm	 1	 pc	 LRU		
		  10002713	 Dustcap QPD QSK BK 3/4X1,5 FS	 2	 pc	 LRU		
		  10002750	 Adapter Cable HDP socket to QPD 2PE1,5	 1	 pc	 LRU		
		  10002752	 Adapter Cable HDP plug to QPD 2PE1,5	 1	 pc	 LRU		
		  10002779	 Power Cable Winch V5 10m	 1	 pc	 LRU	

Suspension Kit for Winch w/ SmartBox



   ordre@akvagroup.com          www.akvagroup.com




